

Buyer (Importer)

# CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-44391-6618444c310a4

**VERIFY.FTGS.US** Date: April 11, 2024

Seller (Exporter) MURAD LLC 2121 Park PI fl 1	Transport Type Air	Port of Loading LOS ANGELES
El Segundo	Destination Country	Destination Port
CA	China	Shanghai
USA		
Consignee GOUNI (HANGZHOU) TRADING CO., LIMITED FLOOR 5, BUILDING 1, QUNJIABUILDING NO. 366 SHENGKANG STREET SHANGCHENG DISTRICT HANGZHOU CITY ZHEJIANG PROVINCE CHINA 310016 China	Export Date  ***********************************	Exporting Carrier **********************************
	Import Permit Number	Bill of Lading / AWB
	Owner or Agent	Forwarding Agent ************************************
Buver (Importer)	Remarks	

<b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
0361 RSG RETINOL YOUTH RENEWAL SERUM 10Z	2222.1kg	United States	
Marks: 20000PCS			
0381 RSG RETINOL YOUTH RENEWAL NIGHT CREAM 1.7 OZ GBL/CHINA	1813.32kg	United States	
Marks: 10000PCS			
50007 Cellular Hydration Repair Cream 1.7oz	907.18kg	United States	
Marks: 5000PCS			
50010 Cellular Hydration Repair Cream 0.25oz	97.52kg	United States	
Marks: 4000PCS CERTIFICATE OF ORIGIN			
60199 DLX RSG RETINOL YOUTH RENEWAL NIGHT CREAM .25 OZ GBL	2496.12kg	United States	
Marks: 30000PCS			
50013 Murad Retinal ReSculpt(TM) Overnight Treatment 30ml	181.44kg	United States	
Marks: 2000PCS		DATA	
55002 Murad Retinal ReSculpt(TM) Overnight Treatment 5ml	358.34kg	United States	
55002 Murad Retinal ReSculpt(TM) Overnight Treatment 5ml  Marks: 15000PCS			
AND THE STATE OF T			



- Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

  -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.

-The Applicant is authorized to give the undertakings set out herein.

Commerce ("LAACC") is accurate, true and complete.



# CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-44391-6618444c310a4 VERIFY.FTGS.US Date: April 11, 2024

Port of Loading Transport Type Seller (Exporter) Air LOS ANGELES MURAD LLC 2121 Park Pl fl 1 **Destination Country Destination Port** El Segundo China Shanghai CA USA Exporting Carrier **Export Date** Consignee GOUNI (HANGZHOU) TRADING CO., LIMITED Bill of Lading / AWB Import Permit Number FLOOR 5, BUILDING 1, QUNJIABUILDING NO. 366 SHENGKANG STREET SHANGCHENG DISTRICT HANGZHOU CITY ZHEJIANG PROVINCE CHINA 310016 Forwarding Agent Owner or Agent China

Remarks Buyer (Importer)



<b>Description</b> (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.)	Weight	Country of Origin	
5401B TRVL ES VITA-C GLYCOLIC SERUM 0.5 OZ GBL	258.55kg	United States	
Marks: 3000PCS  15272D ES VITA-C GLYCOLIC SERUM 1.0 OZ GBL  Marks: 8000PCS	1043.26kg	United States	
60382 RSG RETINOL YOUTH RENEWAL EYE SERUM 0.5OZ GBL	158.76kg	United States	
Marks: 1500PCS			
60124 RSG RENEWING CLEANSING CREAM 6.75OZ	136.12kg	United States	
Marks: 480PCS CERTIFICATE OF ORIGIN			
60391 RSG TARGETED WRINKLE CORRECTOR 0.5 OZ GBL US2100201	20.41kg	United States	
Marks: 450PCS			
15027 ES ESSENTIAL-C TONER 6 OZ GBL	90.72kg	United States	
Marks: 450PCS			
15048 ES ESS-C CLEANSER 6.75 OZ GBL	90.72kg	United States	
Marks: 450PCS			
I DERS !			



Authorized Signature Farhad Ghorbani Fard

- The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of
- origin applicable in the country(ies) to those goods.

  The information in this certificate and in any documents provided to the Los Angeles Area Chamber of Commerce ("LAACC") is accurate, true and complete.
- The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing
- of any inaccuracy, omission or change in such information, or in the origin of goods.

  -The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.
- -In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.
- -The Applicant is authorized to give the undertakings set out herein.

Buyer (Importer)

# CERTIFICATE OF ORIGIN ORIGINAL

TO VALIDATE, GO TO Certificate Number: LA-COO-44391-6618444c310a4

**VERIFY.FTGS.US** Date: April 11, 2024

Port of Loading Transport Type Seller (Exporter) Air LOS ANGELES MURAD LLC 2121 Park Pl fl 1 **Destination Country Destination Port** El Segundo China Shanghai CA USA Exporting Carrier **Export Date** Consignee GOUNI (HANGZHOU) TRADING CO., LIMITED Import Permit Number Bill of Lading / AWB FLOOR 5, BUILDING 1, QUNJIABUILDING NO. 366 SHENGKANG STREET SHANGCHENG DISTRICT HANGZHOU CITY ZHEJIANG PROVINCE CHINA 310016 Forwarding Agent Owner or Agent China

Remarks



Weight Country of Origin (May include notes on Quantity, Item Number, Marks and Numbers, Kind of Packages.) 15425 Cellular Hydration Repair Serum 1oz 181.44kg **United States** Marks: 1300PCS =====end of products=====



The Applicant (or the Applicant on behalf of the Consignor), by utilizing this document, certifies that: The above-mentioned goods originate in the country(ies) specified above and comply with the rules of

origin applicable in the country(ies) to those goods.

The information in this certificate and in any documents provided to the Los Angeles Area Chamber of Commerce ("LAACC") is accurate, true and complete.

The Applicant undertakes to advise LAACC and any other person(s) to whom the applicant provides this Certificate (or to whom the Certificate is provided to with the knowledge of the Applicant) promptly in writing of any inaccuracy, omission or change in such information, or in the origin of goods.

-The Applicant will maintain, and present upon request, such documentation as is necessary to verify the truth, accuracy and completeness of this certificate and accompanying documents.

-In consideration for the LAACC's issuance of this Certificate, the Applicant agrees to release, discharge and hold harmless LAACC from any liability in connection with the issuance of this certificate and to indemnify LAACC in respect of any costs and/or claims made against LAACC in connection herewith.

-The Applicant is authorized to give the undertakings set out herein.



# **COMMERCIAL INVOICE**

Invoice No.

3113336

Date

03/08/2024

PO No.

GUGI20240301-DC-Air

Vendor Number: Importer of Record:

**Shipper Address** 

DHL SUPPLY CHAIN 16550 HEACOCK STREET Moreno Valley, CA, 92551 US Ship-To Address

GO-UNI DOMESTIC

NO.222 LVYIN ROAD, BUILDING 8, 3rd

QIANTANG DISTRICT

Zhejiang, Hangzhou, 310000

CN

Route-To Address

GO-UNI DOMESTIC

NO.222 LVYIN ROAD, BUILDING 8, 3rd

QIANTANG DISTRICT

Zhejiang, Hangzhou, 310000

CN

### FOR COMMERCIAL USE

SKU	UPC/EAN	DESCRIPTION	coo	CURRENCY	UNIT COST	UNITS	TOTAL COST	нѕ
15027E	767332150277	ES ESSENTIAL-C TONER 6 OZ	US	USD	\$ 2.26	450	\$ 1,017.00	3304.99
15048C	767332150482	ES ESS-C CLEANSER 6.75 OZ	US	USD	\$ 2.26	450	\$ 1,017.00	3304.99
50007	767332500072	HYD CELLUAR HYD REPAIR	US	USD	\$ 5.03	5,000	\$ 25,150.00	3304.99
50010	767332500102	DLX HYD CELLULAR HYD	US	USD	\$ 1.58	4,000	\$ 6,320.00	3304.99
50013	767332500133	RSG RETINAL RESCULPT	US	USD	\$ 6.93	2,000	\$ 13,860.00	3304.99
55002		DLX RSG RETINAL RESCULPT	US	USD	\$ 2.22	15,000	\$ 33,300.00	3304.99
60124F	767332601243	RSG RENEWING CLEANSING	US	USD	\$ 3.32	480	\$ 1,593.60	3304.99
60199A	767332601991	DLX RSG RETINOL YOUTH	US	USD	\$ 1.50	30,000	\$ 45,000.00	3304.99
60361G	767332603612	RSG RETINOL YOUTH	US	USD	\$ 5.82	20,000	\$ 116,400.00	3304.99
60381B	767332603810	RSG RETINOL YOUTH	US	USD	\$ 5.03	10,000	\$ 50,300.00	3304.99
60382B	767332603827	RSG RETINOL YOUTH	US	USD	\$ 4.57	1,500	\$ 6,855.00	3304.99
60391	767332603919	RSG TARGETED WRINKLE	US	USD	\$ 4.19	450	\$ 1,885.50	3304.99

FREIGHT TERMS:

**FEDERAL ID#**: 13-1840427

SHIP VIA:

COUNTRY OF DISTRIBUTION: U.S.A.

**TOTAL UNITS**: 89,330

CURRENCY: USD

**TOTAL VALUE:** \$ 302,698.10



# LA-C00-44391-6618444c310a4/April 11, 2024

# Murad.

# **COMMERCIAL INVOICE**

Invoice No.

3113347

Date

03/12/2024

PO No.

GUGI20240301-DC-Air2

Vendor Number: Importer of Record:

**Shipper Address** 

DHL SUPPLY CHAIN 16550 HEACOCK STREET Moreno Valley, CA, 92551 US Ship-To Address

GO-UNI DOMESTIC

NO.222 LVYIN ROAD, BUILDING 8, 3rd

QIANTANG DISTRICT

Zhejiang, Hangzhou, 310000

CN

Route-To Address

GO-UNI DOMESTIC

NO.222 LVYIN ROAD, BUILDING 8, 3rd

QIANTANG DISTRICT

Zhejiang, Hangzhou, 310000

CN

### FOR COMMERCIAL USE

SKU	UPC/EAN	DESCRIPTION	coo	CURRENCY	UNIT COST	UNITS	TOTAL COST	нѕ
15272D	767332152721	ES VITA-C GLYCOLIC SERUM	US	USD	\$ 5.89	8,000	\$ 47,120.00	3304.99
15401B	767332154015	TRVL ES VITA-C GLYCOLIC	US	USD	\$ 4.66	3,000	\$ 13,980.00	3304.99
15425	767332154251	HYD CELLULAR HYDRATION	US	USD	\$ 5.13	1,300	\$ 6,669.00	3304.99

FREIGHT TERMS:

**FEDERAL ID#**: 13-1840427

SHIP VIA:

COUNTRY OF DISTRIBUTION: U.S.A.

**TOTAL UNITS:** 12,300

CURRENCY: USD

**TOTAL VALUE**: \$ 67,769.00

